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Ideals for irreducible component#ﬂ)f Xpar

I = (—u* —u® = 3u® + b —2u — 1, u® 4+ 3u” + 10u® + 19¢° + 31u* + 35u® + 32u? + 2a + 16u + 4,
u® + 3u® + 10u” + 19u® + 31u® + 37u + 34u® + 2202 + Su + 2)

I = (—u* +u® +au — 3u® + b+ 2u — 1, —u'a — 2u® — 3u’a +u® +a® — Tu? —a + 2u — 3,
u’ —ut + 4ud — 3u® 4 3u — 1)

I¥ = (b+1, 2a —u, u*+2)

I'={a, b—1, v+1)

* 4 irreducible components of dim¢ = 0, with total 22 representations.

1The image of knot diagram is generated by the software “Draw programme” developed by An-
drew Bartholomew(http://www.layer8.co.uk/maths/draw/index.htm#Running-draw), where we modi-
fied some parts for our purpose(https://github.com/CATSTAILs/LinksPainter).

2 All coefficients of polynomials are rational numbers. But the coefficients are sometimes approximated
in decimal forms when there is not enough margin.
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1.
It = (—u*—u®—3u?+b—2u—1, ud+3u"+.--+2a+4, u?+3ud+-.-4+8u+2)

(i) Arc colorings
1
ag = O
ag =

az =

—tud = 3uT 4+ —Bu—2
urud +3ut+2u+1
T+ I+ 4+ 3u?
a10 = \ —u8 — 207 — 7Tub — 10u® — 15u* — 140 — 1062 — 3u — 1
b =3y —6u—1
At +3ui+2u+1

—2u® = 3uT+ o = Tu? = 3u >
.

a1 = \ —y8 — 247 — 7Tub — 10u® — 15u* — 140 — 10u? —4u — 1

ag =
u? +1
—ut — 2u?

—ud —2u
ar = \u® +3u®+u
(ii) Obstruction class = —1

(iii) Cusp Shapes = 2u” + 6u® + 18u° + 32u* + 46u> + 48u? + 38u + 8



(iv) u-Polynomials at the component

Crossings

u-Polynomials at each crossing

C1,C4,C5

Ce6,C9, C10

W4 —6u" —5ub +120° + 6ut — 8P+ tu+1

C2,C3,C7
Cg

u? — 3u® + 100" — 19u® + 31u® — 37u? + 340> — 2202 + 8u — 2




(v) Riley Polynomials at the component

Crossings

Riley Polynomials at each crossing

C1,C4,C5

Ce6,C9, C10

y? — 13y® 4+ 70y" — 197y5 + 300y° — 232y + 869> — 2992 —y — 1

C2,C3,C7
Cg

y? + 11y°% 4+ 48y™ + 1055 + 119y° + 51y* — 52y° — 88y* — 24y — 4




(vi) Complex Volumes and Cusp Shapes

Solutions to I} V—1(vol ++/=1CS) Cusp shape
u = —0.903187
a=—1.73778 —9.61991 —8.30450
b= 1.56954

u = —0.638951 + 0.9736211
a= 0.628534 + 1.2283001
b= —1.59750 — 0.172871

—12.55800 — 5.127441

—10.43762 + 3.714231

u = —0.638951 — 0.9736211
a= 0.628534 — 1.2283001
b= —1.59750 + 0.172871

—12.55800 + 5.12744T1

—10.43762 — 3.714231

u = —0.215940 + 0.4366741
a= 0.411654 — 0.7408181
b= 0.234603 + 0.3397311

—0.116751 — 0.8808931

—2.67139 4 7.914811

u = —0.215940 — 0.4366741
a= 0.411654 + 0.7408181
b= 0.234603 — 0.3397311

—0.116751 + 0.8808931

—2.67139 — 7.914811

u = —0.00790 + 1.514661
a = —0.266916 + 0.3851981
b= —0.581336 — 0.4073321

—6.71646 — 1.462331

—6.34609 + 4.722921

u = —0.00790 — 1.514661
a = —0.266916 — 0.3851981
b= —0.581336 + 0.4073321

—6.71646 4 1.462331

—6.34609 — 4.722921

u = —0.18562 + 1.721761
a= 0.095616 — 0.9741291
b= 1.65947 + 0.345441

17.6214 — 8.45861

—11.39264 +- 3.447031

u = —0.18562 — 1.721761
a= 0.095616 + 0.9741291
b= 1.65947 — 0.345441

17.6214 + 8.45861

—11.39264 — 3.447031




IL 1Y =(—u*+ud+au—3u?+b+2u—1, —v'a—2u*+--- —a—3, u° —
u? + 4u® — 3u? + 3u — 1)

(i) Arc colorings

o ()

ag =

a
u4—u3—au+3u2—2u+1)

—uta+uda —ut —3ula+udt +2au—4u —a+3u—2
1
W —au+3ui+a—2u+1

(
(
(
(
as = ( ut —ud —au+3u? —2u+1 )
(
(
(

ay =

—wda+ut + vla —ud —2au+4u® +a—3u+2
—wla+u?a —2au+a—1

ag —
u? 41
—ut — 2u?
—u? —2u
ar = \u* —uwd +3u? —2u+1
(ii) Obstruction class = —1

(iii) Cusp Shapes = 4u* — 4u? + 16u? — 12u + 2



(iv) u-Polynomials at the component

u-Polynomials at each crossing

Crossings
€1, €4, C5 ul® 4+ — 4u® — 2u” + 6u’ — 2u® — Tut + 3ud + 8u® + 2u —3
€65 C9, C10
€2, €3, C7 (W’ +u' + 40® + 3u® + 3u+ 1)°
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(v) Riley Polynomials at the component

Riley Polynomials at each crossing

Crossings
C1,C4,C5 y0—9y¥ + ... =52y +9
€6, C9, C10
C2,C3,C7 (y5 4 7y4 4 16y3 + 13y2 + 3y _ 1)2
C8




Solutions to I3

(vi) Complex Volumes and Cusp Shapes

V—1(vol + y/=1CS)

Cusp shape

0.233677 + 0.8855571
a = —0.504786 — 0.8010431
b = —1.349550 + 0.0501681

u =

—5.10967 + 2.213971

—8.88568 — 4.222891

u = 0.233677 4 0.8855571
= —0.32299 + 1.438731
b= 0.591412 — 0.6342021

—5.10967 + 2.213971

—8.88568 — 4.222891

u= 0.233677 — 0.8855571
a = —0.504786 + 0.8010431
b = —1.349550 — 0.0501681

—5.10967 — 2.213971

—8.88568 + 4.222891

u= 0.233677 — 0.8855571
a = —0.32299 — 1.438731
b= 0.591412 + 0.6342021

—5.10967 — 2.213971

—8.88568 + 4.222891

u= 0.416284
= —1.21727
1.15193

S
|

—2.40769

—0.391160

0.416284
= 2.76718
= —0.506729

>~ Q2 2|
|

—2.40769

—0.391160

0.05818 + 1.691281
a = —0.032711 — 0.9446771
b= —0.660273 + 1.0141901

u =

—14.2482 + 3.33171

—9.91874 — 2.362281

u = 0.05818 + 1.691281
a= 0.585538 4 0.4105411
b= 1.59581 —0.110291

—14.2482 + 3.33171

—9.91874 — 2.362281

u = 0.05818 — 1.691281
a = —0.032711 4 0.9446771
b= —0.660273 — 1.0141901

—14.2482 — 3.33171

—9.91874 + 2.362281

u = 0.05818 — 1.691281
a= 0.585538 — 0.4105411
b= 1.59581 + 0.110297

—14.2482 — 3.33171

—9.91874 + 2.362281




III. I = (b+ 1, 2a — u, u®+2)

(i) Arc colorings

= (o)

ag =

az =

(ii) Obstruction class =1

(iii) Cusp Shapes = —12
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(iv) u-Polynomials at the component

Crossings u-Polynomials at each crossing
1 2
€1,C6 (u+1)
C2,C3,C7 U2 + )
Cs
C4,C5,C9 (u_ 1)2
€10
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(v) Riley Polynomials at the component

Riley Polynomials at each crossing

Crossings
C1,C4,C5 (y_ 1)2
€6, C9, C10
C2,C3,C7 (y+2)2
C8
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(vi) Complex Volumes and Cusp Shapes

Solutions to I§ VvV—1(vol + /—1CS) Cusp shape
U = 1.4142101
a= 0.7071071 | —8.22467 —12.0000
b = —1.00000
U= —1.4142101
—0.7071071 | —8.22467 —12.0000
b = —1.00000
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IV.I1? =(a, b—1, v+ 1)

(i) Arc colorings

= (o)

w- (4
w=(3)
w1
wo= (1)
w= (i
e ()
w- (3
o= (s

-1
a7 = 0
(ii) Obstruction class =1

(iii) Cusp Shapes = —12
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(iv) u-Polynomials at the component

Crossings u-Polynomials at each crossing
C1,Cq u—1
C2,C3,C7 U
Cs
C4,C5,C9 u+1
€10
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(v) Riley Polynomials at the component

Riley Polynomials at each crossing

Crossings
C1,C4,C5 Y — 1
€6, C9, C10
C2,C3,C7 y
C8
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(vi) Complex Volumes and Cusp Shapes

Solutions to I} V—1(vol +/=1CS) Cusp shape
v = —1.00000
a= 0 —3.28987 —12.0000
b= 1.00000
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V. u-Polynomials

Crossings u-Polynomials at each crossing
C1,Cg (ufl)(u+1)2(u9+u8++u+1)
(w4 u® — 4B — 20"+ 6uS — 2u® — Tut + 3ud + 8u? + 2u — 3)
C2,¢3,Cr u(u? +2)(u® + u* + 4u® + 3u® + 3u + 1)?
Cs (u® = 3u® + 10u” — 19u® + 31u® — 37u? + 34u® — 22u® + Su — 2)
C4,Cs5,Co (u—DHu+ 1) +ud+--Fu+1)
€10 (' u® — 4u® - 20" 4 6uS — 20 — Tut + 3uP + 8u? 4 2u — 3)
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VI. Riley Polynomials

Crossings Riley Polynomials at each crossing
C1,Cq,Cs (y — 1)°
¢6, Co, C10 (y? — 13y® + 70y" — 197y° + 300y° — 232y* + 86y> — 29y —y — 1)
Sy —9y? + - — 52y +9)
C2,C3,C7 y(y +2)%(v° + 7y* + 16y° + 13y* + 3y — 1)?
Cs (Y + 1195 4+ 48y7 + 10595 + 119y° + 51y — 52y° — 88y> — 24y — 4)
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